24076 AIRBY [E 7E R BB

7= miiEA

M

W HI T
I

£ R BB,

B

YU XANMBEEFHBIRE T 24078 LE, BEERBRETH—IE
BB - HEEZR

B 2 N ) B A IR AR B A

R, TREFHRNHRRS,

BHERER :
1) AT EZEKIRR 1ISO 4762 19 C
2) M FF &R
® 81 2 7 L2 Bi 2 - L2
—— I l——v[%', o
7o R e e S U W b /2 (N
ST THRNN 77/ A i 2 m—m—— = s [\ 71 o
5 ||\\\-iy-/\|| Ny [l il §M% 5
= [ | e
Lyl Il 1
I_L_I Lo £ =z L L
B B ?Q\T
1
i N =
8 | |l 5
@ | @ T
24076-006 A 6 52| 25 | M6 6 - - |38 - - 132 17 26 23| 5 | 24 M6x0,75 5
24076-008 A 8 |52 25| M6 8 - | - [38 - | -3 17| 26 |23|7 |26 M8x1 75
24076-010 B 10 | 60| 34 | M6 10 | 55 | 15|46 6 |13 |39 22 | 325 |25]| 5 | 29 M10x1 5
24076-012 B 12 |60| 35| M6 12 | 55 |18 |46 6 |13 |43 25| 35 |25| 5 |29 M12x1 5
24076-015 B 15 | 70| 40 | M6 15 | 55 | 18 |54 6 | 15|48 28 | 38 |27 | 9 | 32 M15x1 6
24076-017 B 17 |86 | 50 | M8 17 | 66 | 2868 8 |19 |64 39 55 35| 8 |44 M17x1 7
24076-020 B 20 [ 88|52 | M8 20 | 6,6 [22|70 8 |19 |60 34 50 35| 8 | 43 M20x1 8
24076-006 - - -
24076-008 - - -
24076-010 6500 2800 95
24076-012 7000 3100 102
24076-015 7500 3500 114
24076-017 13000 5900 120
24076-020 16100 8400 145

© norelem www.norelem.com




24076 AR E [E 5 4 K B

© norelem www.norelem.com



